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GENERAL INSTRUCTIONS

(Please read and follow these Instructions Carefully)

15 minutes additional time will be given in the begin-
ning to the candidate for filling up columns of OMR
Answer-Sheet and Question Booklet appropriately. Do
not open the seal of Question Booklet during this ad-
ditional time of 15 minutes.

Candidate must write his/her Roll Number and OMR
Answer Sheet No. in the space provided on the top left
hand side of this page.

Candidate should mark his/her answer only on the An-
swer-Sheet which is being provided separately.

Q. no 31 to 40 (part-I) are in English and
Hindi. Candidate is to attempt either
English or Hindi and mention this in the OMR
sheet (in 31 to 40-part I which language are you
attempting). by darken the bubble.

It is most important that a candidate fills up details like
Name, Roll No., Language, Category, Question Book-
let Series No, Series Code, Center Name, Center Code,
Signature at appropriate Columns/Boxes on OMR An-
swer Sheet, earmarked for this purpose, fully and cor-
rectly. If any of these details are not completed by
the candidate, his /her Answer-Sheet will not be
evaluated.
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PART-I GENERALAWARENESS / KNOWLEDGE

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai
2. The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun
3. The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953
4. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
5. Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
6.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
7. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
8.  The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
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30U BNG—HET WR W | F=ifeiRad o & waf

IBI1 JIUAT IFfH X H Wolr?
(A) feeet (B) el
(ORENEIE! (D) g%

YR IRy HiSsed & T Hal
Rera 27
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(C) 8 faeent
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9. Who was the regent of Akbar in his early days ?

10.

I1.

12.

13.

14.

15.

16.

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

9.

10.

YRS BTl § IhaR BT RIUSHATAR DI 21?7

(A) g HoIeT  (B) vl

(C) 9RTE (D) CIEIAd
faspa ARMTS SidReT &g Pal Rerd 872
(A) foreday=A (B) aias‘

(C) exTETE (D) §7Telo

PART-1 ELEMENTARY MATHEMATICS

Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(C) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after

3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs.2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIUA
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54,288,360 &1 HeTH AHIUAAD ST HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT THTH AAIAAD S DIFTI?
(A) 54 (B) 108
(€) 216 (D) 432

5200 U B gARICT W 6 ufaerd arfie & e

¥ QT 9yl BT AR Qrol fhadr grm?
(A) 450 T (B) 524 Uy
(C) 600 BT (D) 624 BT

1200 ®UI &I TFRIRT 5 Yfera ARl arivd
TS D &R | A9 aut 918 fha= 81 SRefY?
(A) 1380 ©TY (B) 1290 ®uY
(C) 1470 © (D) 1200 ®9

2100 U BT F=RIT 5 UfRrd &1 aifis ashgfs
o1 &R ¥ & aY 918 ol & SIal?

(A) 2300 ST (B) 2315.25 U

(C) 2310 T (D) 2320 T

Ife CANDLE &1 f¥il e (@Ts) # EYPBNC
forect € 1 FLAMES &1 9T d¢ H 1 forel?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA
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17. Choose the correct option in the place of question ~ 17. ¥¥ g Pl Sfd fawey | T D R -

mark (?) > T2 1 ¢
15 | 7 | 30
22 A 162 | 196 | 150
1810 130 1458 [ 1372 | 750
162 | 196 | 150
1458 | 1372 | 750 (A) 16 (B) 28
(A) 16 (B) 28 (©) 49 (D) 54
(©) 49 (D) 54
18. Ina picture on wall Ram showed anold manand  18. dIaR TR o U frF 1 AR M A qqr
said “his son is my son’s uncle”. How is the old b 59 9g @R LR E A YH BT 9 B M
man related to Ram? DT J& A T FE T
(A) Father (B) Grandfather (A) foar (B) uftar
(C) Brother (D) Uncle (C) T8 (D) =rar
19. Choose correct option in the place of question  19. T2 (?) & UM WR Sfd fadhed w1 70
mark (?): BT
7 [ 10 | 40 7 ] 10 | 40
7 | 12 | 50 7 | 12 | 50
9 14 60 9 14 60
(A)3 ®B)5 (A)3 ®B)5
©8 (D)4 ©)38 D)4
20. Evaluationof 8 x 82x 8% is: 20. & x8x 8P B & :
(A) 1 ()0 (A 1 ®o |
©)38 (D) None of these ©)8 (D) SIRIH H IS el

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. Find odd one out : 21. 3T Bl ST P
(A) Excel (B) Mouse (A) TRIA (B) ArSH
(C) Desktop (D) Key (C) S (D) B
22. Find out from the given option which is different? 22. &I I fapaygl | M9 Td BT TgT Hifor
(A) Naga (B) Bhil (A) =TI (B) Wil
(C) Garo (D) Brahmin (©) T (D) aTETT

23.  With which sport Dibeyendu Barua is asociated? 23. g 9B BT Aey fhd Wl | 2°
(A) Chess (B) Football (A) IR (B) Hcdred
(C) Cricket (D) Shooting (C) fobae (D) e
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24.

Direction : In which answer figure specified

components of key figure are found ?

Key Figure:

Answer Figure :

<A

®
A

L1

Direction : In Q. No. 25 and 26 a related pair of words is

25.

26.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative

given to replace the Question mark (?) :

27. NUMERAL:UEALRMN ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
28. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
29. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
30. PNLJ:IGLC ::VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
CARPENTER-§
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frder : I A IR ATHIT H FERT AR & faere

24.

NCREERIG 1

FEHET ATl

9T : UvH o 25 —26 H Il BT GO ST feAr

25.

26.

T 7 | Ry T faweni § 9 99 e @ g
ST dfted # fo T Wi ST dey g9 2

ENQUIRE :ASK ::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH So 27 —30 ¥ T Aweul d 92 Ay

27.

28.

29.

30.

BT T DI S U9 g &l W4 of 9 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG ::NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR::BCDE:?

(A) KLMJ (B) KLMN
(C) luvM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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fAder o 31 9 32 : fA=faRaa gty & R ofer
# Ffe 2, 99 fafzd s
31.
(A) BT BT eI
(B) T &1 A
(C) & & ofdll
D) 15 Ffe el
32.
(A) oo™ o fA=ar
(B) T&@ ¥
(C) nifay forerch
D) @15 Ffe el
33, ‘WS’ Bl fdol¥ vreg 2
(A) oY (B) BI3T
(C) 31t (D) BT
34. YA BT fao¥ e &
(A) |17 (B) IR
(C)EIT%I@ (D) ¥
35. ‘39 B UGG Ieg 8T B
(A) 3raTq (B) 31T
(C) 3t (D) &t
36. ‘BH BT UGN I T8l B
(A) UbST (B) AR
(C) STert (D) o
37. BT BT A I B
(A) W& @ BATS  (B) WES UT O]

38.
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PART-I HINDI

(C) I 28 9] (D) THIHT @ &

T b R FT e @

(A) ARF—HTET ¥ <1 8% He
(B) ST &1

(C) S[aT AIST NI

(D) 3T AT

39.

40.

T ST 9 3T & S9P foT U eq
PIT—T B?
(A) R
(C) garTg

(B) ST
(D) TR

S T U9 ovrar © @ U U v
HIT—T 87
(A) 3THYDH
(C) fruesft

(B) 7TIE®
(D) UReilfeh
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PART-I ENGLISH

Direction (31-32) : From the given alternatives ineach ~ 36.

question, select the word which is opposite in (A) Fortuneate (B) Fortuneit
meaning of the underlined word : (C) Forchunate (D) Fortunate
31. Fluent: Directions (37-38) : In the following questions, some parts
(A) Inappropriate (B) Halting of the sentences have errors and some have none.
(C) Degrading (D) Insensitive Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
32. Reluctant: i.e. No Error :
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing 37. (A) She has not completed
(B) her course
Directions (33-34) : In each of the following questions, a (C) Isn’tis
part of the sentence is printed in bold. Below are (D) No error
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choosethe correct  38.  (A) Every citizen is
alternative. In case no improvement is needed your (B) Entitled to
answer is (D) : (C) The voting
(D) No error
33. I brushed my teeth every day at 7 O’clock in
the morning : Directions (39-40) : In each of the following questions,
(A) I brushes my teeth every day at 7 O’clock in sentences are given with blanks to be filled in with
the morming an appropriate word(s). Four alternatives are
(B) I'brush my teeth every day at 7 O’clock in the suggested for each question. Choose the correct
morming alternative as your answer :
(C) I'brush my tooth every day at 7 O’clock in the
morming 39. Sheis......... of lizards :
(D) No improvement (A) tearful (B) frightened
(C) afraid (D) terrified
34. Only me I can solve the problem :
(A) Only me can 40. The priestwas innocent...................... he could not
(B) OnlyIcan proveit:
(C) Ican only (A) and (B) but
(D) No improvement (C) for (D) so

Directions (35 -36) : In each of the following questions,
there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

35.
(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious
CARPENTER-§
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41.

42.

43.

44,

45.

46.

47.

48.

PART-II CARPENTER

What is the length of Tenon saw?
(A)25cmto30cm
(B) 20cmto 25 cm
(©)20cmto35cm
(D)30cmto35cm

What is the use of Dovetail saw?
(A) to make marks

(B) to make shallow cut

(C) to make large cut

(D) None of these

What is the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm

When is the key hole saw used?

(A) to make the hole

(B) to cut from innerside of wood
(C) to make the circle shape of wood
(D) Both (A) and (B)

Which tool is used to make small curves in a
confined space ?
(A) Rip saw

(C) Cross cut saw

(B) Compass saw
(D) Firmer chisel

What is the length of compass saw?
(A)20cmto 30 cm

(B) 25cmto40 cm
(©)30cmto40 cm

(D) 50cm

Which saw is used for cutting the thick wood
perpendicular to the grain ?
(B) Dovetail saw

(D) Rip saw

(A) Tenon saw
(C) Cross cut saw

What is the length of Bow saw?
(A)25cm (B) 25cmto 35 cm
(C)35cm (D)35cmto40 cm

41, H9 T M P g fhae Bt 27
(A) 25 J0¥10 ¥ 30 HOHI0
(B) 20 H0¥I0 3 25 H0HI0
(C) 20 010 & 35 HOHI0
(D) 30 J0¥10 ¥ 35 HOHI0

42. saca At &1 WA fea ard @ fog faar
ST 287
(A) 9 o & forg
(B) BIC & g1 & foru
(C) TS Pe oM & fory
(D) 574 & ®Ig 7Tl

43. Ry &t @) w18 fha= 8 87
(A) 60 010 (B) 80 010
(C) 70 Ho¥10 (D) 50 |0#I0

44. B B AT BT YART B9 fbar Siar 87
(A) G XA & ferg
(B) AHS! Bl TR A Hled B folg
(C) AHS! Bl g ATBR T & o1y
(D) (A) R (B) &=

45, BIE STE ¥ <3l iR1E A & forv {5 Suawor

(3NSTR) &1 WA fobar ST 87
(A) Ry =t (B) ®¥IT<T AT
(C) %I\ ®e 4l (D) TR faerar

46. HHNT A B TS fha 27
(A) 20 0¥ 3 30 HOHI0
(B) 25 H0HI0 I 40 H0HI0
(C) 30 |0HI0 ¥ 40 HOHIO
(D) 50 |o#I0

47. 59 AR BT YINT AT dAdhs! BT 2T H
PIc b DI ST 27
(A) S+ <t
(C) ™I e |f

(B) Sace wf
(D) Ry «t

48. 1 Gt fha o= Bl /7
(A) 25 HoHI0
(C) 35 |oHI0

(B) 25 J0¥10 ¥ 35 HOHI0
(D) 35 |0HI0 | 4090¥10
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49.

50.
51.

52.
53.
54.
55.

56.

57.
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What is the property of coping saw blade?
(A) Longblade (B) Very thin blade
(C) Thin and short blade (D) Thick blade

Why are the chisel used?
(A) Moulding work

(B) To make the hole
(C) Both (A) and (B)
(D) None of these

What is the length of Rule?
(A) 30 cmand 60 cm

(B) 2 ft.

(C) 41t

(D) 0.1 meter

Try square is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above

Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°

Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge

What is the use of Marking knife?
(A) to make mark

(B) To cut pencil’s mark

(C) To make the hole

(D) All of these

How many types of calliper are used?
(A)1 B)2
©)3 (D) 4

What is the use of Divider?
(A) To make the mark

(B) Todivide

(C) Tocut

(D) To make the circle

49.

50.

51.

52.

53.

54.

55.

56.

57.

P AT BT ofs AT BT 27

(A) eTHT (B) 98 Udell
(C) Uqelt 3R BT (D) HIeT

ot &1 wanT 4t far Sar 2°?
(A) REre &= & forg

(B) IR R B forg

(C) G T RFarl & forg

(D) 57 & foeft & forg =&

el B TS fhd 87
(A) 30 0. 10 TAT 60 H0.H10
(B) 2%

(C)4me

(D) 0.1 Hrex

2l WpaIR fhal filfY &1 &9 999 & &
JTaT B?
(A) 30°
(C) 90°

(B) 60°
(D) 90° ¥ 37ferem

Hex WARR fha f$f &1 o7 a99 | &
7T B?
(A) 45°
(C) 30°

(B) 30°
(D) 90°

0° ¥ 180° T® BT HIVT g9 & forg fbdd
AR BT TN fhar Sar 87

(A) TTE RR (B) HIex AR
(OEIEERSEIRN (D) X S

AIfHIT A1I8® F YA fhar Srar 27
(A) e e @ forg

B) Ut & fRIF &1 He &=1 B forg
(C) I F1 & ferg

(D) STgad w4l

PR fhad TR & B 27
(A1 (B) 2
©3 (D)4

fSarsex &1 ®’T HH BAT © ?
(A) o o= & forg

(B) favror & forg

(C) @ T & forg

(D) 9 9 & forg
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58.

59.

60.

61.

62.

63.

64.

65.

66.

CARPENTER-§

What is the use of plumb Bob?
(A) To measure plainness

(B) For cutting

(C) To measure straight length
(D) None of these

Which tool is used to make parallel lines on
wood?

(A) Marking gauge
(C) Calliper

(B) Wing campass
(D) Divider

At which angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°

Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane
(C) Gilmit

(B) Spoke shave
(D) Plough plane

What is the use of G-clamp?

(A) High pressure on wood

(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All of the above

Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these

What is the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood

(D) To make the mark

What is the breadth of blade of smoothing plane ?
(A)5cm (B) 7cm
(C) 10cm (D) 6cm

Write the second name of sash clamp?
(A) Carpenter bench vise

(B) G-clamp

(C) Bradawl

(D) Bar clamp

Latest Sarkari Jobs, Govt Exam Results,
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58.

59.

62.

63.

64.

65.

66.

TR df9 BT JANT T 2?
(A) TS A9 B foTg
(B) ®red & forw

(C) AU AT & forg
(D) 3778 ¥ BIg &

AhS! BT FHAMR XEG¢ 999 & forg fba
ISR BT TN fhar ST 87

(A) FIfHT A5 (B) fd1 wwa™

(C) Bl (D) fEargsR

O i | <ls Bl fhd W & Br1or R aman
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

. XA & Yool H ol ICT8d (style) T X (rale)

H el 991 @ forv b SR &1 9T fhar
ST 87

(A) WIS i+
(C) Rrartie

(B) WId 39
(D) &I i

SH—®el™ &1 YN w1 fhar Srar 87
(A) THS! & HUR <416 STe- B foly
(B) TdhS! Bl §1 | 3TelT B & foly
(C) ABS! Bl TMATHR B & oIy

(D) SuYer T

TSI AT BIC JIG A D fory fha iR
ST TN fHar S &7

(A) XTiT 59 (B) siEft

(C) = AT (D) 377H & BIE T

e S BT YART 1 fhar Sirer 87
(A) T UPR & Bl 9991 & oIy
(B) THS! Bl a4 & forw

(C) AP Bl & forg

(D) o ar= & forg

T O B =TS B dIers fha g 27
(A) 5 0.0 (B) 7 Ho.#0
(C) 10 H0.#0 (D) 6 H0.410

AT ol BT SR 5T A & ST S 27

(A) PRUCR §+7 9189
(B) SH—Fetrd
OESE

(D) IR—Fel ™
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67.

68.

69.

70.

71.

72.

73.

74.

Which tool is used to keep the correct saw blade
teeth?

(A) Files

(C) Saw-setter

(B) Marking
(D) Pincer

What is the use of pincer?
(A) To tap nails

(B) To drawn nails

(C) Both (A) and (B)

(D) None of these

Plaining is the ............ process:
(A) First (B) Second
(C) Third (D) Fourth

Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called
as?

(A) Batten
(C) Bevel

(B) Milled
(D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng
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70.

71.

72.

. N & Ird b iR | 3 fhu o 87

(A) BISel
(C) |Af—%ex

(B) AT
(D) =R

=R &1 v @ far rar 27
(A) BT S B g

(B) BTl Reprer & forw

(C) (A) 3R (B) &I

(D) § ¥ P el

AT (/T oA D=l fohar 87

(A) g&ell (B) T
(C) TR EIRI

f B BT AFHRIT BEd 787

(A) TR s arell |adg Bl Bre]

(B) fHAR g1

(C) DT Bl BT

(D) 9TeR fe@™ arel T B9 qAT Ads! & I

BT SreTT

fefRT fod wsa 87

(A) THS! B T D HIR Udh IGHI Sile]
(B) ATl P fHaIRT & SireAT

(C) dBS! B 2 H=RI BT fHl fhIR W SISl
(D) BEl W ABS! BT SISl

THS! H IR BeTs DI BT 45° | SITQT BT
27 S R HEd 87
(A) e
(C) diaet

(B) fics
(D) F=IRT

dhS! & HER B Adg BT TS Idaell Bl
APl I Udell IMe T TH Bl KT Hed a7

(A) diaet (B) AIfSTT
(C) de (D) dffRaT
. aret & RIRT Br e dom IR 99 Bl R/
PEd 87
(A) T=ple (B) ¥
O (D) wfT
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75.

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila
tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these
76. Whatis assembling?
(A) Todivide
(B) Break
(C) Tojoining
(D) Joining to already prepared parts for obtaining
required
77. Which of the following is holding tool?
(A) Carpenter bench vice
(B) Rebating
(C) Caliper
(D) Nails
78, . is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning
(C) Planing (D) Plank
79, i, is a piece of section rectangular or square
of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt
80. Tomake the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding
81. Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
82. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
CARPENTER-§
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75.

76.

77.

80.

81.

Pl BT YART 1 fhar S &

(A) IRge A B foTg

(B) Ucel SxaTal Rasa! &I dr@e | Sied @&
ferg

(C) ST8T TR STS! Pl S ATsd o4 &l
(D) 371\l Bl & forg

AT @ 2°?

(A) 3TTT— T DAl

(B) TS

(C) STrgT

(D) Ugel ¥ TIR UIE Bl SHvd & TR
Shg BT

$TH | BIF AT AR Udhsd a1l AR 87
(A) PRYSR I+ 9159

(B) Ree

(C) BeiToR

(D) ®Ict

............. B! BT Al dAT HB ACTS aTell TXIT
BIAT &7

(A) Rafe
(C) wifvia

(B) R
(D) <F

.................. ABS! BT AR AT JARIATHR HIR BT
g THSl BIAT & ORI dAds! & Sirel R eI
g

(A) Wi
(C) de

(B) U=
DEIS

ABel H M GIRI TN & BT Bl
B STl &7
(A) forafer
(C) HIfET

(B) RafeT
(D) 9T

PIF AT BATST Bt bTelT & B T &
(A) 91 fUd BdreT  (B) i fUe gedteT
(OECIEEIS) (D) THS! BT geiTeT

HIF W THS! TAS B RIS I | YART 181
AT TR
(A) RIS
(C) |RTaA

(B) <
(D) WR™
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83. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
84. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullaryrays (D) Pith
85. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
86. Which jointis not a longitudinal joint :
(A) Lapingjoint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint
87. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail
88. The age of tree is determined according to the :
(A) Heart (B) Closed rings
(C) Bark (D) Madullary rays
89. Which door is very low secured :
(A) Flush door
(B) Ledged door
(O) Rolling steel door
(D) Panalled door
90. Which door is used for privacy & ventilation :
(A) Ledged braced door
(B) Flush door
(C) Loavered door
(D) Panalled door
91. Which is the part of door frame :
(A) Toprail (B) Horn
(C) Bottom rail (D) Hanging style
CARPENTER-§

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

83.

84.

85.

86.

87.

88.

89.

90.

91.

TSGR &7 @l 9T Ugd 2 |
(A) TR AT (B) BICT
(C) SI1eT ot T (D) SI1QT UXd dTedl

geT BT FIY 3R dTel AN BT a7 Hedl o
(A) IM<RP qaha  (B) faadT Brs
(O #gem foxdi (D) foer

B T 3ioTR {5 dee & aRT 781 fohar sirar

é.

(A) Rreere (B) XTT o

(C) i (D) fo=R

I AT TS Irgeed T -7 &

INGERSIS (B) <afAT Sire

(C) fBRIT < I SESESIS

e TR & R B A1 oSl TN Bl 2
(A) 3TH (B) AR

(C) a1 (D) Bl

P & IR &7 Bl MY ST I Il &
A) fea & B) 7<= 7 34
(C) gFbet ¥ (D) #gefr ¥

GReT & g H A UbR BT SRarel qad
AR o

(A) 9T SRATSIT

(B) <SS gxaTST

(C) Afei T el g=aroT

(D) fdeet TR STl

I AT EATS UTeddl 9 d<iaie= & ford
TR BIdT &

(A) TS IS SXATOT]

(B) qUTE ERATSIT

(C) AaRE ERaTSIT

(D) faeel TR S=ATST]

B eRATS Pl G BT B3R &
(A) B9 X
(C) dfcH X

(B) &
(D) BT I8
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92.

93.

94.

95.

96.

97.

98.

99.

100.

Which is the lowest part of the window frame :
(A) Panal (B) Horn
(C) Sill (D) Bottom rail

Clearstory window rotates on :
(A) Topside (B) Middle side
(C) Bottom side (D) Anyside

Lantern light window is used at :
(A) Corner (B) Slopy roof
(C) Flatroof (D) Wall

Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks

Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun

What is the unit of timber measuring :
(A) kg /m’ (B) kg/m?
(€) (D)

Which hinge is generally used for doors and

windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge

The window which is projected out side the wall of
room is known as :

(A) Casement window (B) Dormer window

(C) Lantern window (D) Bay window

A wooden block hinged on the part out side of the

doorisknown as:
(A) Cleat (B) Stoper
(C) Horn (D) Eye
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6. There are 16 pages in this Question-Booklet. | 6. 9 Te—gRa®T # Gt 16 S & | SHIGAR BT A9
Candidate on receiving his/her Question-Booklet, E]'E?f—gﬁﬂcbl e IR S9D 93 i 21 afe gemedt
should check the pages of the Question-Booklet. If a DI P N IferaT YT yTE—gRaHT Herd g ar
candidate receives an incomplete or defective  Ques- I8 IR B TAeH F U] wRe S UNieT ITRRT
tion-Booklet, he/she should make a request to the 8 & 10 e & 3=} goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IFIGIR UeT—YRTHT Uaq ITR—UAF ¥ Hel 9l T
tion mark anywhere in the Question- Booklet or in ¥ fearg <A araen siar (IRre ygam arar @8 =
the Answer-Sheet. Any such mark, if found, will be T o | IS $9 UBR BT dls (-2 U AT dl 98
termed as ‘Canvassing’ and paper of such candidate BRI TSI SITQET 3R UH IHEaR & J0R &1
will be cancelled. B faar e |

8. Do not detach any leaf from the Question-Booklet. | 8. UA—gRTAHT # ¥ BT IS 3T 7 & | Whell & gzard
After the Examination, hand over separately the ol geF—gRAPT 3R ITR—UTD HH B UIdeTH Pl
entire Question-Booklet and Answer-Sheet to the drer 9
Invigilator.

9. For each question, four alternative answers have | 9. ul® U & U IR SR ey 2y v & R 4
been provided, out of which only one is correct. Baer Uh B wE 21 (A), (B), (C), 3k (D) & |aw
Darken the appropriate circle in the Answer-Sheet T fdhed B Bad il / Blol dfct Ufse U BT
by way of using Blue/Black Ball Point Pen, on the PR U STR—UFH H SR el BT W o |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@% ueq & ISR & ®Y § ddd UF & T [AdHeq
answer. If response is indicated on more than one g Iafe Teh gy & oIy v ¥ ¥ faeedi ux freme
alternatives or the circle has not been darkened ST AT 2 31T el &l STR—Y=H § 9dT¢ Y &I
properly in the Answer-Sheet, as required, it will ¥ Ter (Dark) =&t fam a7 ¥ 7 S o SR AT
be treated as invalid answer and no mark will be GTFQ“T AR 99 SR B U B e TS e |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. & IR fau U SR # fFA YR & GoIR IT FARA
Hence candidate should be very sure about correct DI AT TEl B | SHOY SHIGIR §RT el DI /R
answer before darkening the appropriate circle. In U Ugel e SR gAREd ) forar wu | el v
case of corrections or double marking of circles ® IR A GUR PR IR AT T el Bl 9= TR I
against same question, it will be ftreated as 3T AT STRIAT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, | 12 wfierr wam § deqecey, Red s, Igar o
Cellular Phone and Pager in the Examination Hall is T YR B Ao O R TaH 3BT TANT HRAT
prohibited. afig 2

13. Each question carries one mark. There is no | 13. ye YT &1 Udh 3 & | Told SN & [0 Bls b
negative marking for any wrong answer. T8I BIeT ST |

14. If any discrepancy in the Hindi translated version of | 14. afg f&<l w07 & v # 2= w191 & orga® 4 3%
any question is found, the question given in English I o Sl & A1 SRS W W fImr W ued g1
language will be treated as final. JFf=aH BRI |
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PART-I GENERALAWARENESS / KNOWLEDGE

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
2. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
3.  Light fromthe Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
4. Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
5. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
6. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
7. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
8.  Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
CARPENTER-06
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IR T BT RATIAT He gAY 2f1?
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(B) et e
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10.

11.

12.

13.

14.

15.

CARPENTER-06

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

9.

10.

BTRg SO-RR o 39T 3ifaH fhde e a9
U BNG—HETH WR el | Fforad # | wsf

IBI 3T IffH e Fa WaAr?
(A) feeet (B) el
(ORENEIE! (D) g%

YR UAaRIB HISSYH & AT Hel
Rera 27

(A) BADBTT
(C) 3 faeent

(B) wifuifer
(D) <&

PART-I ELEMENTARY MATHEMATICS

Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after
3 years ?

(A) Rs. 1380
(C)Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs. 2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIJUA

Choose the correct option in the place of question
mark (?):

18 ? 30
162 | 196 | 150
1458 (1372 | 750

(A) 16
(C) 49

(B) 28
(D) 54
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5200 ®UY Bl FRIFT IR 6 UfArd a1ffie &l %

I ST U7 BT AR 1T fhadr 8R?
(A) 450 T (B) 524 T
(C) 600 TT (D) 624 ST

1200 ®9Y &1 g1 5 Ufcrerd AreRer aifiya
AT B & | A9 au] 918 fha= 81 SREfY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIFY 5 ufaera &) aiffs aswafy

o <) 9 & aY q7g fdhadr g Sraeh?
(A) 2300 BT (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

Ifd CANDLE &1 {6l & (#1s) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H @ fofa?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § -1 $IH -

>[4 T

18 [ 2 ] 30

162 [ 196 | 150

1458 [ 1372 | 750

(A) 16 B) 28
(C) 49 (D) 54
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16. Inapicture on wall Ram showed anold manand 16, IR W o1 U = &1 @ | = gdmam

said “his son is my son’s uncle”. How is the old fb 59 g @fth &1 g3 W RECIRCIEl I
man related to Ram? P J§ A T FEY ©
(A) Father (B) Grandfather (A) foar (B) gfuar
(C) Brother (D) Uncle (C) wTS (D) dren
17. Choose correct option in the place of question 17. e (?) D WM W IRT ey &1 T34
mark (?) PIRT
2 T 10 T 40 2 [ 10 [ 40
7 | 12 | 50 7 | 12 | 50
9 14 60 9 14 60
(A) 3 B) 5 (A)3 B 5
©)8 D)4 ©)8 (D) 4
18. Evaluation of 8*x 82 x 8~ is: 18. 83 x & x8 P EA T :
(A) 1 B) 0 (A) 1 ®) 0
©)8 (D) None of these ©)8 (D) SR H PIg ol
19. Find the HCF of 54, 288,360 : 19. 54,288,360 &I Ha<H FHAMTAND SITd DITA?
(A) 18 (B) 36 (A) 18 (B) 36
(©) 54 (D) 108 (C) 54 (D) 108
20. What will be the LCM of 8, 24,36 and 54 : 20. 8,24,363IR 54T T A THATIA D ST DISTI?
(A) 54 (B) 108 (A) 54 (B) 108
(C) 216 (D) 432 (©)216 (D) 432

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated? 21. éég 3T pT FaY b Wl 9 8?2

(A) Chess (B) Football (A) RS (B) ®cdre
(C) Cricket (D) Shooting (C) forde (D) gfen
Direction : In which answer figure specified components <91 : B9 I IR 31|cg>|?| F FHRT 31|<g)|'?1 & faure
of key figure are found ? aQ o &7
22. KeyFigure: 22, FHAT ?l?‘l
$X 3T N

Answer Figure :
A (A) (& B
® g .
A
& o o
o o

CARPENTER-06 SET-B
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Direction : In Q. No. 23 and 24 a related pair of words is

23.

24.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative

given to replace the Question mark (?) :

25. NUMERAL: UEALRMN ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
26. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
27. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM
28. PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
29. Find odd one out :
(A) Excel (B) Mouse
(C) Desktop (D) Key
30. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
CARPENTER-06
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fader : ueq G0 23 —24 § vy

23.

24.

T 7 | QU T fadedl § | 99 Siie Bl g
ST dfied ¥ A T Siie ST |ee g9rdr @

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

foder : ueT o 25 —28 oy T [Ahedl # WL Ay

25.

26.

27.

28.

29.

30.

BT T P ST U9 g & 4 o 99 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC : FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IUVM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
NI Bl ST PO
INRGEE (B) #r3¥
(C) S&her (D) &I
R T fadedl & IRITT BT o9 BN -
(A) AT (B) it
(C) TR DEIEE

SET-B
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PART-I HINDI

3. RS BT A e ﬁ%f%T}:{o 39 ¥ 40 : fA=faRad areat | 59 st
(C) 3t (D) B %

32, UHT @1 e TR (A) UPfT @7 HreF
(A) A1 (B) 3R (B)WEET‘W
(C) uRrg (D) = (C) T &

(D) o3 Ffe =&

33. ‘3 B UGl UK T8l g
(A) 3fquq (B) T 40.

(C) 3 (D) Ut (A) Foorr | A
(B) & ¥

34, ‘BT BT GIRIAT g TE B (C) wrifey firerd &
(A) Ut (B) T (D) P Ffe 7
(C) Sietot (D) &

35. BT @1 "ot | e 7
(A) %ETd & HAE  (B) FEol UK a%K]
(C) 3 28 a%g (D) WA &1 o

36. TR B R BT A B
(A) ARF—4TeT I <1 88 He

(B) & &1
(C) S[3T |ISTH BRI
(D) 30T AT
37. Sl OFFF ¥ 3iET 2 IS oY U g
P 87
(A) R (B) ST
(C) gaRTS (D) TR
38. SN @+ H g &vrar ®° @ folv ud vre
P 87
(A) 3Ty D (B) A-HIE®
(C) fruesft (D) URGIfhdH

CARPENTER-06 SET-B
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PART-1 ENGLISH

Directions (31-32) : In each of the following questions, a

31.

32.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) I brush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (33 -34) : In each of the following questions,

33.

34.

CARPENTER-06

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Directions (35-36) : In the following questions, some parts

35.

36.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

37.

38.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of'lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

39.

40.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

SET-B

Know More



41.

42.

43.

44,

45.

46.

47.

48.

CARPENTER-06

PART-II CARPENTER

What is the length of Rule?
(A) 30 cmand 60 cm

(B) 2 ft.

(O) 41t

(D) 0.1 meter

Try square is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above

Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°

Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge

What is the use of Marking knife?
(A) to make mark

(B) To cutpencil’s mark

(C) To make the hole

(D) All of these

How many types of calliper are used?
A1 B2
©)3 (D)4

What is the use of Divider?
(A) To make the mark

(B) Todivide

(C) Tocut

(D) To make the circle

What is the use of plumb Bob?
(A) To measure plainness

(B) For cutting

(C) To measure straight length
(D) None of these

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

41.

42.

43.

44,

45.

46.

47.

48.

el B oAHs fhd 87
(A) 30 0. 510 TAT 60 H0.H10
(B) 2%

(C)4me

(D) 0.1 Hrex

2T IR fha S &1 &9 999 & B
IS IE
(A) 30°
(C) 90°

(B) 60°
(D) 90° ¥ 3Tferem

Hex WARR fhar f$ift &1 ®ror 999 5 3
7T B?
(A) 45°
(C) 30°

(B) 30°
(D) 90°

0° 3 180° TH BT HIT g9 & foIq fhsd BOTR
BT YT fhar orar 27

(A) T8 TR (B) #Iex AR
(OEIEERSEIRN (D) &X U

BT A18® F YA fhar e 27
(A) feme 7= @ forg

B) Ut & R &1 He &= B forg
(C) G &R & fory

(D) Suga I

PR fhad TR & B 27
A1 (B) 2
©3 (D)4

feargex &1 T B BT B ?
(A) e o & forg

(B) favror & forg

(C) @ T & forg

(D) 9 9= & forg

o §f9 BT GANT RIT 87
(A) TS A9 B folg
(B) ®lew & forg

(C) o= A9 & forg
(D) 79 A BIS &I

SET-B
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49.

50.

Which tool is used to make parallel lines on
wood?

(A) Marking gauge
(C) Calliper

(B) Wing campass
(D) Divider

At which angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°

51. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
52. Whatis the use of G-clamp?
(A) High pressure on wood
(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All ofthe above
53. Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
54. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
55. Whatis the breadth of blade of smoothing plane ?
(A) Scm (B) 7cm
(C)10cm (D) 6¢cm
56. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
57. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
CARPENTER-06
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49.

52.

53.

54.

55.

56.

AhS] BT TR Y&N g9 & forw fg
TR &1 WA fHar ST &7

(A) FIf T IS (B) {7 Hw e

(C) BelTR (D) fEargsR

P i § e dl b S & Pror iR o
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

GRATS! @ Yool H ol IS8 (style) TAT XA (rale)
H el 99 & g {6 SISk &1 vt faban
ST 2°?

(A) WIS =i
(C) firetfie

(B) W& Y
(D) T Tiv

SH—el™ &I JANT a7 fhar Sirar 87
(A) TIPS B HIR GG S B oIy
(B) Tds! Bl 91 # 31T IR & forw
(C) AP Bl TMATHR Bl & folg

(D) Sugad |

TSI TAT BIC JRG IR & oy {64 3R
BT JART fhar e 27

(A) YT 59 (B) SISt

(C) I+ DA (D) 574 ¥ Big TE

XTI BT TART 1 fhar Sirer 87
(A) 9! THR & & 99 & fory
(B) THs! Bl TdM & forw

(C) THS! HIed & forg

(D) fem o= & forg

T ©F B IS B drerg fhael gl 87
(A) 50410 (B) 7 0.410
(C) 10 H0.#0 (D) 6 Ho0.#I0

I Holv BT R BT AW | ST SIar g7
(A) PRUYSR I+ 9159

(B) S—et

(C) SsTed

(D) IR—Fel

I B ard fbd MR & 3 fhy T 87
(A) BTScl (B) rfepT

(C) |i—ex (D) o=z
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58.

59.

60.

61.

62.

63.

64.

65.

CARPENTER-06

What is the use of pincer?
(A) To tap nails

(B) To drawn nails

(C) Both (A) and (B)

(D) None of these

Plaining is the. ............ process:
(A) First (B) Second
(C) Third (D) Fourth

Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

If wood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila
tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these

Latest Sarkari Jobs, Govt Exam Results,
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38.

59.

60.

61.

62.

63.

64.

65.

=R &1 TN R far ST 27
(A) BIeT BT B forg

(B) #iet feprer & forg

(C) (A) 3R (B) <

(D) 374 & BIg &1

I (7T 1) =N fbar 87

(A) TEedl (B) T
(C) Ty (D) 3t

foa @ B IFRRT FHEd 87

(A) 9T=R fa@= arell |dg T STl

(B) fHAR F91T

(C) DT BT Blet

(D) 9TeR fa@= a1et ARG DI qAT ADhS! D DI
DI Bler

faeRT fo oed &7

(A) THS! Bl Th D HUR TH GBI SIS
(B) TSl Bl fhaIRT & SireT

(C) AdS! & 2 HFRI B fhedl fr R WR e
(D) BEl TR AGS! BT SIS

JTBHST H IR Helg BT DIV 45° F ST Bl
27 I R Hed 27
(A) de
(C) diaet

(B) fes
(D) FRT

dPS! & HFER B Fdg Bl I Ydell B
ddhel W udell I A Th B R Hed 87

(A) diaet (B) ST

(C) S (D) af=fRT

qrel & R Br e T IR 99 Bl |7
PHEd 7

(A) d=pic (B)EI%”_T

(OPC] (D) i

Peoll BT YANT FAT fbam e =

(A) TrEge AR & folg

(B) Yool ATl Rasd! &I drge | S @
forg

(C) ST&f W ST Pl SAvgel ¥4 &l
(D) 37 w1 Bl & forg
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66.

67.

68.

69.

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required

Which of the following is holding tool?

(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails

............ is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning

(C) Planing (D) Plank

................ is a piece of section rectangular or square

of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt

70. To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding
71.  Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
72. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
73. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
74. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith
CARPENTER-06
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66.

67.

70.

74.

T T 2°?

(A) ST~ T BRI

(B) dre

(C) Sire=T

(D) Ugel ¥ TIR UIE Pl T1d & AR
Shg AT

STH S PIF AT MR g drelt 3R 87
(A) PRUCR d+7 9189

(B) Rde

(C) PAR

(D) it

............. B! DT ArST TAT BB HICTS dTell T
BT &7

(A) Rafe
(C) wiIfviT

(B) i
(D) <

.................. ADHS! BT AR IT JAATHR AR BT
TP CHe Bl & T ddel & el IR T
g

(A) T
(C) de

(B) U
(D) diee

ABel H M YRR I D BT P
Pl ar &7

(A) %lﬂ._?fl" (B) Rafe
(C) AT (D) 9fT

. PIF IT gellel dId Ndbia & & 3dT &
(A) 9t U7 gelter  (B) o1 O gedter
(C) Tl gedteT D EENEIRS IS

P W TPl Al I RIS g9 H YA

& BT Ry

(A)W B) <I®
(C) |rTdiA (D) ¥R™
. YOS g&T &7 R Uga 2 |
(A) SITET AT (B) BICT
(C) SgraT ot T (D) SITGT 9Rd Tl

J&T BT WY IFER dTel 1T BT FT Hed 2
(A) MRS qahel  (B) faaT s
(C) Fget far

(D) faer
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75. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
76. Which jointis not a longitudinal joint :
(A) Laping joint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint
77. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail
78. The age of tree is determined according to the :
(A) Heart (B) Closed rings
(C) Bark (D) Madullary rays
79. Which door is very low secured :
(A) Flush door
(B) Ledged door
(O) Rolling steel door
(D) Panalled door
80. Which door is used for privacy & ventilation :
(A) Ledged braced door
(B) Flush door
(C) Loavered door
(D) Panalled door
81. Which s the part of door frame :
(A) Toprail (B) Horn
(C) Bottom rail (D) Hanging style
82. Which is the lowest part of the window frame :
(A) Panal (B) Horn
(O©) Sill (D) Bottom rail
83. Clearstory window rotates on :
(A) Top side (B) Middle side
(C) Bottom side (D) Anyside
CARPENTER-06
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75.

76.

77.

78.

79.

80.

81.

82.

&3.

I AT VR g B § GART 981 fhar sl
T
(A) frfere

(B) Y@ 99
(C) THIHAT (D) =R
EZRISIRE AR G AT ISIS Ll
INKCERSIS (B) TafeT Srs
(C) R Sire (D) SHacd e
XA IR & oy o4 A dds! TART 8l &
(A) 3TH (B) R
(C) et (D) el

P9 & AR J&T BI MY AT B AT 2
A) et | (B) @< R ¥
(C) gahe - (D) gl %

GReT & T H [HF YR P XA Fa9
FHGR &

(A) |UTE AT

(B) TIoTS gaTST

(C) el Frel gRarst

(D) f&eel TR SxaTSTl

P AT TRATSI WSl T deieled & ford
TANT BT &

(A) ofos IS SRaTS

(B) \UTC &=aATol

(OEIERSEECINI

(D) f&eel TR SxaTST

B SIS Bl dRIC BT R 2
(A) &TT Xl (B) &
(C) dfeH YT (D) BT Iz

Rasadl @1 diae & el R B &1 ded
2

(A) T
(C) Rret

(B) €
(D) dfcH Xd

FIRR R Rasa! wal ¥ ol o
(A) SR A
(C) ¥ 9

(B) §1a &
D) F& A
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84.

Lantern light window is used at :

(A) Corner (B) Slopyroof
(C) Flatroof (D) Wall
85.  Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
86. Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun
87. Whatis the unit of timber measuring :
(A) kg/m? (B) kg/m?
(€) (D)
88. Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
89. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
90. A wooden block hinged on the part out side of the
door is known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
91. Whatis the length of Tenon saw?
(A)25cmto 30 cm
(B) 20cmto 25 cm
(C)20cmto35cm
(D) 30 cmto 35 cm
92. Whatis the use of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) tomake large cut
(D) None of these
CARPENTER-06
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&4.

85.

86.

87.

88.

89.

90.

91.

92.

e dsc Rasa! HEf YA Bl
(A) PR R (B) @lef ®d W
(C) 9uTe Bd W (D) R |

T 3T ADS! BT T T &
(A) AraTfs (B) ¥R
(C) 3T (D) AT

ORI & T 999 § DI A dhs! Bl

TIANT BIT ©:

(A) O, Fqe (B) 3, bl
(C) ITel, TaaR (D) =, ST
AR AT B R IS

(A) four /= (B) farur /91
(C) ¥ (D) ¥

TNaTol, Rasd! & AM=Id: DI AT Beoll YA
BT &
(A) 9% T 21 (B) WU o=t

(C)de f&= (D) TSRS e fa=st
RIS Bl AaR | 9} Adel Rasa!
PEH B

(A) D Ragd!  (B) SR Ragad!
(C)ofve Rasal (D) 9-Raga

TRATS P g% RSB ol Pl AT |
SRITAT T AHS! & ThS Bl FaT A BT &
(A) File (B) TR

(C) &+ (D) 3ire

<A 9 N BT AT fhaAT Bl 57
(A) 25 010 & 30 HOHIO
(B) 20 %10¥10 & 25 H0HI0
(C) 20 010 & 35 HOHI0
(D) 30 010 3 35 HOHIO

sacd At BT TN e w1 & forg faman
ST &7

(A) e e @ forg

(B) BIC e g9 & oy

(C) TS e o™ & ol

(D) 379 A BIS &I
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What is the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm

When is the key hole saw used?

(A) to make the hole

(B) to cut from innerside of wood
(C) to make the circle shape of wood
(D) Both (A) and (B)

Which tool is used to make small curves in a
confined space ?
(A) Ripsaw

(C) Cross cut saw

(B) Compass saw
(D) Firmer chisel

What is the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40 cm

(D) 50 cm

Which saw is used for cutting the thick wood
perpendicular to the grain ?

(A) Tenon saw (B) Dovetail saw

(C) Cross cut saw (D) Rip saw

What is the length of Bow saw?
(A)25cm (B) 25cmto 35 cm
(C)35cm (D) 35cmto 40 cm

What is the property of coping saw blade?
(A) Longblade (B) Verythinblade
(C) Thin and short blade (D) Thick blade

Why are the chisel used?
(A) Moulding work

(B) To make the hole
(C) Both (A) and (B)
(D) None of these

93.

94.

95.

96.

97.

98.

99.

100.

Ry &t & ow1g fha gl 87
(A) 60 Ho#I0 (B) 80 Ho#I0
(C) 70 Ho#io (D) 50 Ho#io

D1 B Al BT YA He fHar SIrar 287
(A) G PR & ferg

(B) THS! Bl TR A P & forg
(C) AFHS! BT gd ATHR I @ foly
(D) (A) 3R (B) <1

BICI SITE H <ol fiRTE &R+ & forv fbd Suamror
(3ISTR) &1 WA fobar STrar 287

(A) Ry <t (B) ¥ AT

(C) i\ @e wf (D) B*R foara

HHNY A & oHTs fhadl 87
(A) 20 010 & 30 HOHIO

(B) 25 J0¥10 | 40 H0H0

(C) 30 HoHI0 ¥ 40 HOHI0

(D) 50 Ho#i0

fohsT IR BT T AT ddhs! Bl NI H
PIe B BT AT 287
(A) S St

(C) T4 Pe wf

(B) €dc o At
(D) Ra =t

q1 At = o= Bl 27
(A) 25 H0H10 (B) 25 {00 ¥ 35 HOHI0
(C) 35 Ho#io (D) 35 H0HI0 & 4090HI0

P AT BT ole AT BT 27

(A) <t sT (B) 9Igd udlell
(C) Uqelt 3R ®Ier (D) HieT

fRrsTost ®T YT i fhar sidr 272
(A) REreT) o= & forg

(B) IR IR & forg

(C) IR TT R & forg

(D) 394 I foxfl & forg &8
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6. There are 16 pages in this Question-Booklet. | 6. 39 Wei—gRa®T # Gt 16 I8 & | SRIGAR DI AT
Candidate on receiving his/her Question-Booklet, qg:[—gf%qqﬂ e IR S9D EiS) e 2 | afe geeft
should check the pages of the Question-Booklet. If a Pl Pl R AAAT YT YTE—gRABT el & or
candidate receives an incomplete or defective  Ques- I8 R B TAeH F U] R S URell TN
tion-Booklet, he/she should make a request to the B B 10 e & 3r<x gooar dhd & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. SIGaR UeF—YRTHT Taq STR—UAF § PHal |l T
tion mark anywhere in the Question- Booklet or in ¥ g <A arar siar (e ygam arar &g e
the Answer-Sheet. Any such mark, if found, will be T TNIT | AT 9 PR BT HIg 2 9T 147 1 I8
termed as ‘Canvassing” and paper of such candidate HIRAT" T ST 3R U SHIEAR & U0 Y58
will be cancelled. B FEIT S |

8. Do not detach any leaf from the Question-Booklet. | 8. UA-gRTAHT # ¥ HIE TS 3T 7 HX | Well & g
After the Examination, hand over separately the qof ge—gRa®T 3R ITR—UTD HHY © UddeTd Bl
entire Question-Booklet and Answer-Sheet to the drer 4
Invigilator.

9. For each question, four alternative answers have | 9. u@® g & U IR SR fAeey 2y 1w & R 4
been provided, out of which only one is correct. Bad Uh 8 e =1 (A), (B), (C), 3Rk (D) & wad
Darken the appropriate circle in the Answer-Sheet TE fdemed B Bad il / Blol dfct Ulge U BT GANT
by way of using Blue/Black Ball Point Pen, on the el U STR—UTd H ST el BT W < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@% Ueq @& SR & ®Y § Bl UF & TE1 [Adeq
answer. If response is indicated on more than one 2 gfe b g & forw U § &1f¥e fahedi ux e
alternatives or the circle has not been darkened ST 1T 2 31T el ] STR—U=% § a1y Y &I
properly in the Answer-Sheet, as required, it will ¥ Ter (Dark) &t far 77 & @ S T SR A
be treated as invalid answer and no mark will be W 3R 99 SR B U B 3 ST onT |
awarded for that answer.

11. No correction in Answer Column is permissible. [ 11.g& IR fau ¢ SO # A YR & GuR I1 FARA
Hence candidate should be very sure about correct Bl A Bl B | SHONY IHIRAR §RT el ®I W+
answer before darkening the appropriate circle. In U Ugd 2 SR gAREd ) forar wv | &0 ue
case of corrections or double marking of circles $ IR H GIR B UL IJFAT AT Al B AR TR I
against same question, it will be treated as JTHTI AT STRATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, | 12 e wawr & derqeres, fSfed sre), Jqger B
Cellular Phone and Pager in the Examination Hall is T UoR B SO AT T TqH BT TRANT BRAT
prohibited. afid 2

13. Each question carries one mark. There is no | 13. yd UTT &I Th i & | Toid SN P folT BIs 3
negative marking for any wrong answer. 31 BIeT ST |

14. If any discrepancy in the Hindi translated version of | 14. afg f&dl w17 & wea & 2= 9191 & 31gdQ # B9
any question is found, the question given in English Ffe uE SN § 1 oSN AT ¥ fImr T ued 8
language will be treated as final. =\ BRI |
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ning to the candidate for filling up columns of OMR
Answer-Sheet and Question Booklet appropriately. Do
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(@uar g (Ee @1 eIFyde ug Ud ruTer @)
L.

THEAR BT ITR—IFAS AR TEA—YRIBT & i Bl
WA & foI ugel 15 fAde @& 99T e ¥ fean
TG | 399 3@y ¥ yea—gRad o die @e A7
gl
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Name, Roll No., Language, Category, Question Book- fAuiRa M ® o @l fAaver O AW, e 6w,
let Series No, Series Code, Center Name, Center Code, WNT, T, T I HaiP, IR BS, Py
Signature at appropriate Columns/Boxes on OMR An- HT AW, DE B PrS, Fel vd gof w9 ¥ ford, vd W
swer Sheet, earmarked for this purpose, fully and cor- 3R AT BXIER DY | IfE Bls SRNEIR SuRIEd § 9
rectly. If any of these details are not completed by P fIaRor Pr T8 WRaT ¥ A 9GP IIR—UFD B
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PART-I GENERALAWARENESS / KNOWLEDGE

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

The ‘Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
CARPENTER-0¢
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1.

F=IfeRad H | A IQR &7 aaq sl B
27

(A) B Rig rad

(B) TH0 dNA g

(OREIGRNES

(D) #Y B

I g W B T hed & IR
RIS S & AT H freferiad § 9 fha!
O &} Dl SIedl?

(A) foxra (B) faf3ra ama
(C) UeH (D) 3rfaaRa <9
‘BT’ BT HT fha drrr or?
(A) T AT

(B) % TTIEIGY

(C) T® &¥Mfdg

(D) T PH

YRS BTl § 37hex BT RIUSHATAR I 277
(A) 99 BT (B) Azl

(C) 9IRTE (D) TreHa
faspa ARMTS JidRel g Pal Rerd 872
(A) faedage (B) T

(C) TERMETE (D) §Te®

BT SOk o 39T 3ifqy fhdbe e 89
U ENG—HE WR Wl | Frafeiad § & waf

I+ 39T JffeH e {9 Wolr?
(A) faeet (B) ®eTdh<l
(QELREI (D) g=g

IR UAARIBY HISSeE &I AT Hal
Rera &7

(A) Db
(C) 7% faeet

(B) ifuifer
(D) <&

NIRRT T BT RATIAT He gl 2f1?
(A) 1962
(C) 1920

(B) 1948
(D) 1953
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9. Bijapur is known for : 9. dOR fhae foRy ST SITar 27
(A) Severe drought Area (A) {7 GEIRA &
(B) Gol Gumbaz (B) el S
(C) Heavyrainfall Area (C) 31t gfte aretr &=
(D) Statue of Gomateswara (D) THaeeR &1 ufadr & ford
10. Light from the Sun reaches us in nearly : 10. I &1 UHT §H T fha=il afd H ugedm 57
(A) 2 minutes (B) 4 minutes (A) 2 fiFe (B) 4 fiFe
(C) 8 minutes (D) 16 Seconds (C) 8 fime (D) 16 DTS
PART-1 ELEMENTARY MATHEMATICS
11. IfCANDLE is written as EYPBNC, incertaincode ~ 11. If& CANDLE &I fdl & (dl€) # EYPBNC
then in that code FLAMES will be written as : forRgd € A1 FLAMES &1 391 d¢ H & fola?
(A) DJYKCQ (B) HNCOGU (A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHJUA (C) HICKGQ (D) KCHJUA
12.  Choose the correct option in the place of question 12, FeAfI= &I T faded | T SIS -
mark (?): T T3
D 2 3 18 ? 30
13 By 30 162 | 196 | 150
5 TToc 150 1458 [ 1372 | 750
1458 [1372 | 750 (A) 16 (B) 28
(A) 16 (B) 28 (C) 49 (D) 54
(©) 49 (D) 54
13. Inapicture on wall Ram showed anold manand  13. <R WR o U foF & @max W 7 gam
said “his son is my son’s uncle”. How is the old man 5 59 g5 s &1 93 WX Y3 &7 9140 © |'IH
related to Ram? B Jg W T | T
(A) Father (B) Grandfather (A) fuar (B) wfter
(C) Brother (D) Uncle (C) ¥ (D) ==
14. Choose correct option in the place of question  14. T (?) & WM R Ifad fddeq &1 w4
mark (?): DI -
> [ 10 [ 40 > T 0 ] 40
7 [ 12 ] 50 7 | 12 | 50
14 | 60 9 | 14 | 60
(A)3 ®5 (A)3 B) 5
©)38 D)4 ©)8 (D) 4
15. Evaluationof 8 x 82 x 8~ is: 15. $x8x8°PT &A T :
A1 ®)0 (A) 1 B) 0
(C)8 (D) None of these €)8 (D) SRIh H BIg ol
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16.

17.

18.

19.

20.

Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

What will be the LCM of 8,24, 36 and 54 :
(A) 54 (B) 108
(C) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C)Rs. 2310 (D) Rs. 2320

Direction : In Q. No. 21 and 22 a related pair of words is

21.

22.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE :ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative

given to replace the Question mark (?) :

23. NUMERAL:UEALRMN :: ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
CARPENTER-0¢
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16. 54,288,360 T He<H AHUAAH ST BISTA?

(A) 18 (B) 36
(C) 54 (D) 108

17. 8,24,36 3R 54 &1 THTH FHIEID ST DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

18. 5200 ®YY B gRIR WR 6 U ISP &l

I ST g7 BT ARV 1T fhadr 8R?
(A) 450 ST (B) 524 ®TU
(C) 600 TT (D) 624 T

19. 1200 9 & FARIFT 5 Uferd AR a1fid
TS BT TR A9 99T 91 fha=1 8 SIaefY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

20. 2100 B9 BT G=RIRT 5 Yferd &1 arfie ashdfs
S &R ¥ &1 aY qrg fhd= 81 SR
(A) 2300 ST (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

fcer - U w0 21 —22 # vIeEl &1 Feferd SireT faar
T & | fau T fAweni #§ & 99 SIS @ g
ST dftcd # o T Sie 99T ddy gifar 2

21. ENQUIRE:ASK::
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 23 —26 oA M fawedi § Wl fadey
BT I DI ST Y forrg &1 W= of 9

23. NUMERAL: UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24.

25.

26.

27.

28.

29.

BDAC :FHEG:: NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IuvM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

30.

CARPENTER-06

of key figure are found ?

Key Figure:

Answer Figure :

A A

24.

25.

26.

27.

28.

29.

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?
(A) KLM]J (B) KLMN
(C) uVvM (D) STUM
PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
3T Eﬁ SITd P I?ﬂﬁ :
(A) TRI (B) ArsH
(C) Swher (D)
I T QApedl # 1T &1 T I -
(A) AT (B) ¥t
(C) TRI (D) sT&ToT
Qg B3 BT A vy Wel 9§ 27
(A) RSt (B) HedTd
(C) fobae (D) zffeT
fAder - oI AT SR ATHIT W FHRT ATHfT & faerse
ac faemm 87
AT 3Tl
SErECICaR]
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PART-I HINDI

31, ‘@HS BT YIRGT I AL T 38. WU’ BT fadm v @
(A) Tt (B) |Iww (A) g (B) BIam
(C) STefst D) T (C) g (D) BT
32, ‘grer &7 Hor 3 aref T 39. ‘UAEM’ BT faaH I &
(A) FETd B HAE  (B) TS U a%] (A) 179 (B) 3R
(C) I 28 d¥g (D) IRATHT Bl <7 (©) ufig (D) T
33 I @ A BT el = 40. wmwﬁaﬁmﬂé’r%
(A) 9RH—¥TaT ¥ <1 g8 we (A) S (B) i
(B) & &1 (C) 314 (D) T
(C) SIBT HIST BRI
(D) 3T AT
34, ST OFF 9 ST 2 IS oY U Ul
P 87
(A) IR (B) ST=Ter
(C) gaRT (D) ¥R
35, I <@d H U9 orar § @ fol U v
P B?
(A) THYH (B) #AIEDH
(C) frueeft (D) URGIfhdH

fdor o 36 @ 37 : fm=faRaa arai & S o9
# 3 & S fafza sifoiw:

36.
(A) BT @1 Areddr
(B) fa &1 74
(C) &l &R ol
(D) ®1g Ffe T

37.
(A) oo | e
(B) Y& A
(C) wnifay forercht &
(D) P1$ Ffe T
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PART-1 ENGLISH

Directions (31 -32) : In each of the following questions,
there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

31.
(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

32.
(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (33-34) : In the following questions, some parts
of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

33. (A) She has not completed
(B) her course
(C) Isn’tis
(D) No error

34. (A) Everycitizenis
(B) Entitled to
(C) Thevoting
(D) No error

Directions (35-36) : In each of the following questions,
sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

35. Sheis......... of lizards :

(A) tearful (B) frightened
(C) afraid (D) terrified
36. The priest was innocent ..............c....... he could not
proveit:
(A) and (B) but
(C) for (D) so
CARPENTER-06
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Direction (37-38) : From the given alternatives in each
question, select the word which is opposite in
meaning of the underlined word :

37. Fluent:
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
38. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a
part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

39. 1 brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) Ibrush my teeth every day at 7 O’clock in the
morming

(C) I'brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

40. Only me I can solve the problem :
(A) Only me can
(B) OnlyIcan
(C) Ican only
(D) No improvement

SET-C
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PART-II CARPENTER

41. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
42. What s the use of G-clamp?
(A) High pressure on wood
(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All of the above
43. Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
44. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
45. What is the breadth of blade of smoothing plane ?
(A) Scm (B) 7cm
(C) 10 cm (D) 6¢cm
46. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
47. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
48. Whatis the use of pincer?
(A) To tap nails
(B) To drawn nails
(C) Both (A) and (B)
(D) None of these
CARPENTER-06
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41.

42.

43.

44,

45.

46.

47.

48.
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49.

50.

51.

52.

53.

54.

55.

56.
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Plainingis the............. process:

(A) First (B) Second
(C) Third (D) Fourth
Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila

tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of'these

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required
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(C) et
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SREfolT T 87
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(B) T

(C) ST
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57.

58.

59.

60.

Which of the following is holding tool?

(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails

............ is awide thick and wooden heavy board :
(A) Rebating (B) Seasoning

(C) Planing (D) Plank

................ is a piece of section rectangular or square

of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt

To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding

61. Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
62. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
63. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
64. What is the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith
65. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
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66.

67.

68.

69.

70.

71.  Which is the part of door frame :
(A) Toprail (B) Horn
(C) Bottomrail (D) Hanging style
72. Which is the lowest part of the window frame :
(A) Panal (B) Horn
(O) Sill (D) Bottom rail
73. Clearstory window rotates on :
(A) Top side (B) Middlesside
(C) Bottom side (D) Anyside
74. Lantern light window is used at :
(A) Corner (B) Slopy roof
(C) Flatroof (D) Wall
CARPENTER-06

Which joint is not a longitudinal joint :
(A) Lapingjoint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint

Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullary rays

Which door is very low secured :
(A) Flush door

(B) Ledged door

(C) Rolling steel door

(D) Panalled door

Which door is used for privacy & ventilation :
(A) Ledged braced door

(B) Flush door

(C) Loavered door

(D) Panalled door
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75. Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
76. Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun
77. Whatis the unit of timber measuring :
(A) kg/m’ (B) kg/m?
(C) (D) n?
78. Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
79. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
80. A wooden block hinged on the part out side of the
door is known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
81. Whatis the length of Tenon saw?
(A)25cmto30cm
(B) 20cmto 25 cm
(C)20cmto 35 cm
(D)30cmto35cm
82. Whatis theuse of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) to make large cut
(D) None of these
83. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm
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84. When is the key hole saw used?
(A) to make the hole
(B) to cut from innerside of wood
(C) to make the circle shape of wood
(D) Both (A) and (B)
85. Which tool is used to make small curves in a
confined space ?
(A) Rip saw (B) Compass saw
(C) Cross cut saw (D) Firmer chisel
86. What is the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40 cm
(D) 50 cm
87. Which saw is used for cutting the thick wood
perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw
88. Whatis the length of Bow saw?
(A)25cm (B) 25cmto 35 cm
(C)35cm (D) 35cm to 40 cm
89. Whatis the property of coping saw blade?
(A) Longblade (B) Very thin blade
(C) Thin and short blade (D) Thick blade
90. Whyare the chisel used?
(A) Moulding work
(B) To make the hole
(C) Both (A) and (B)
(D) None of these
91. Whatis the length of Rule?
(A) 30 cm and 60 cm
(B) 2 ft.
(C) 4tt.
(D) 0.1 meter
92. Trysquare is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above
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93. Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°
94. Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge
95. Whatis the use of Marking knife?
(A) to make mark
(B) To cutpencil’s mark
(C) To make the hole
(D) All of these
96. How many types of calliper are used?
(A)1 B)2
©)3 (D) 4
97. Whatis the use of Divider?
(A) To make the mark
(B) Todivide
(C) Tocut
(D) To make the circle
98. Whatis the use of plumb Bob?
(A) To measure plainness
(B) For cutting
(C) To measure straight length
(D) None of these
99. Which tool is used to make parallel lines on
wood?
(A) Marking gauge (B) Wing campass
(C) Calliper (D) Divider
100. Atwhich angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°
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PART-I GENERALAWARENESS / KNOWLEDGE

The ‘Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara

Light from the Sun reaches us in nearly :
(B) 4 minutes
(D) 16 Seconds

(A) 2 minutes
(C) 8 minutes

Latest Sarkari Jobs, Govt Exam Results,
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1.

‘JThTAdRa’ BT f=rafor fhaa wxrar oar?

(A) T e

(B) % TTEIGN

(C) T& &lfdg

(D) T® D

YRS BTl H IhaR BT RIUSHATAR DI 21?7
(A) 3TgeT el (B) Sxwdf

(C) 9FRTE (D) IS

faspa ARMTS SfdRer &g Pal Rerd 87

(A) frodagsa (B) g

(C) TRMETR (D) §TeT®

BT Sol-RR o 37971 3ifqy fhdbe e 89
U ENG—HET WR Wel | fr=aferiad § & waf

I+ 39T JffoH e {9 Wolr?
(A) faeet (B) deTdh<l
(OEEREI (D) g=g

IR UAARIBY HISSeE &I AT Hal

Rera 87

(A) DADT (B) arfuffer

(C) 77 faeed (D) <&
SITIRIS 3 BT RTUAT Hd AT 17
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST SITar &7
(A) YT GERRAT &=

(B) el e

(C) aifcr gfte gt &=

(D) AR &1 Tfeod T @ ford

I BT b1l 8H I fdba-il rafe H ugedr 27?
A) 2 e B) 4 e
(C) 8 fAse (D) 16 ADTS
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9.

10.

FefaRad | & FYqR &1 aqar qrgwall b
27

(A) B Rig rad

(B) g0 I~ Rz

(ORESGRNES

(D) ¥ B

s RiEerd W 5 T e & AR
MY g & 1A H freforiaa | | feaat
IAUET ol DI S ?
(A) fa=mr

(C) deH

(B) T3 ama
(D) rfdaRa a9

PART-I ELEMENTARY MATHEMATICS

9. Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
10. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
11. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
12. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 ®) 5
©)38 D)4
13. Evaluationof 83 x 82 x 8 is:
(A)1 ®)0
©) 8 (D) None of these
14. Find the HCF of 54, 288, 360 :
(A) 18 (B) 36
(C) 54 (D) 108
15. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432
16. Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
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11.

12.

13.

14.

15.

16.

IR W & U o B feares M« gaman
% 59 9g =IfRe &1 g R I &7 9 8 ']
B Jg W 9T |qaY T

(A) fuar (B) ufuar

(C) g (D) =ren

U3 () & W R 3fad fAded &1 au+

DITY -

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©) 8 (D) 4

X 8x85HI B B :
(A) 1
(C) 8

B) 0
(D) SRR H PIg A8l

54,288,360 &1 He<H HIYAAD ST HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TYTH FHAIIIID I DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®UY Bl FRIFT WR 6 Uferd a1ffie &l v

I I 991 BT AR TS fhd=r grm?
(A) 450 BT
(C) 600 T

(B) 524 T
(D) 624 ST
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17.

18.

19.

20.

Direction : (Q. No. 21-24) Choose the correct altenative

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C) Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs.2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

given to replace the Question mark (?) :

21. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
22. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
23. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
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17.

18.

19.

20.

1200 U &1 G=RIRT 5 Uferd |eRer arfie
T D &R | A aut 91 fhae 81 SefT?
(A) 1380 T (B) 1290 ®ud
(C) 1470 9 (D) 1200 I

2100 Y BT G=RIRT 5 Ufrerd &1 a1 =shgis
T &R 9 & a9 918 o+t & SIef?

(A) 2300 ST (B) 2315.25 U

(C) 2310 BT (D) 2320 T

afd CANDLE &! f&l e (@1€) §# EYPBNC
forad € o FLAMES &1 31 & H 1 forem?
(A) DIYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

U @I S fdder | I_1 I -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

foder : ued Wo 21 —24 A I fabedi # Wl fAdhey

21.

22.

23.

BT I DI ST Y9 forrg &1 = of 9

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE : ?

(A) KLMJ (B) KLMN
(C) IuvM (D) STUM

SET-D

Know More



24.

25.

26.

27.

PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

28.

of’key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 29 and 30 a related pair of words is

29.

30.

CARPENTER-06

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence: Man (D) Habital : home
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24.

25.

26.

27.

28.

PNLJ:IGLC :: VTIRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
RITA DI STd BT -
(A) Vel (B) Arsd
(C) SE&her (D) &
oy T fAhedl & IRFTT &1 o9 DI -
(A) AT (B) HTet
(C) TRY (D) ST&TIT
<dvg 03T BT e b Wl A &7
(A) TR (B) HedTd
(C) fobabe (D) gffeT
e : o9 A1 SR i H FERAT AT & faere
d faemme 27
AR 3MMHA
IR 3T

fder : U Fo 29 —30 H IgT BT GefT SireT fear

29.

30.

a7 2 | AU T fadent # A 99 Siis @l g
ST dfYed ¥ QT Sis ST Heg ST &

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT : :

(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PART-I HINDI

31, WY B R BT et 38. '3fer T wARETEl wE T T
(A) IfRp—raT & & gF We GVEERE! (B) 3T
(B) < & (C) 31 (D) wet
(C) S[ST 4TSI NIl _
(D) 3rJoT BT 39. ‘HHA BT TARIET TR TE T
(A) T (B) R
32, S OFFF ¥ 3T B 9 folU U Irea (C) Sferst (D) B
DI &7
(A) R (B) ST=ey 40. ‘81 BT Hel' W 37 ©
(C) geRTSZ (D) ¥R (A) HE-Td B HATS  (B) WES IS a9

(C) 3T 28 a7 (D) THATHT @ <
33. S <@+ # g &vrar ®° @ forv ud vree

HIT—T 87
(A) 3THYDH (B) AAIEDH
(C) fruesft (D) URGIfhdH

fAder w0 34 9 35 : fa=faRaa arait § O ofer
A Ffe 2 S9 fafza s
34.
(A) Ui @1 Aeddr
(B) fsa &1 74
(C) 7I&f & orcll
(D) ®1g Ffe e

35.
(A) oo | fAar
(B) ¥Ew 9
(C) wnifay forercht &
(D) P1$ Ffe T

36. U’ BT fad¥ v @
(A) g (B) BI37
(C) gt (D) BT

37. SUA BT A v 2

(A) |11 (B) 3R
(C) ulrg (D) =
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PART-1 ENGLISH

Directions (31-32) : In the following questions, some parts

31.

32.

ofthe sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Everycitizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (33-34) : In each of the following questions,

33.

34.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... oflizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (35-36) : From the given alternatives in each

question, select the word which is opposite in
meaning of the underlined word :

35. Fluent:
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
36. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
CARPENTER-06
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Directions (37-38) : In each of the following questions, a

37.

38.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) Ibrush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (39 -40) : In each of the following questions,

39.

40.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous

(D) Simultanious
(A) Fortuneate (B) Fortuneit
(C) Forchunate (D) Fortunate
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41.

42.

43.

44,

45.

46.

47.

CARPENTER-06

PART-II CARPENTER

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila
tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required

Which of the following is holding tool?
(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails
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41.

42.

43.

44,

45.

46.

47.

faeRT fo oed &7

(A) THS! BT Th D HUR TH GBI SIS
(B) TSl B fhaIRT & SiredT

(C) APl & 2 HFRI Bl fhdl fhIR W SireT
(D) BE! R AGS! BT SISl

AP H MR BTl BT DIV 45° H SITET BT
27 S R HEd 87
(A) e
(C) diaet

(B) fics
(D) g

dPS! ® HHER B Fdg Bl AT el BIF
DS I Udell oMe F ThH BT AT had 87

(A) et (B) ST

(C) de+ (D) afafRT

qrel & RRT BT Wer qoI AR 999 BT /T
PHEd TF

() e ® gfe

O (D) wAfsiT

Peoll BT YANT FAT fbar 1T 2

(A) T AR & folg

(B) Ueel Sxaml Rasd! &I dr@e | S @
ferq

(C) ST&f R SISI Bl AR w4 &
(D) 3 &1 @t & forg

SR AT &7

(A) 3TST— AT HRAT

(B) dre

(C) SIS

(D) U8el ¥ IR UIE Pl SRRd B AR
$PHE FIAT

g8 O DI AT VIR Ybs drell 3ioiR 87
(A) FRYSR §+7 9184

(B) Rse

(C) BelR

(D) dlet
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49.

50.

............ is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning
(C) Planing (D) Plank

................ is a piece of section rectangular or square
of wood used at joints of wood:

(A) Plank (B) Screw

(C) Batten (D) Bolt

To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding

51.  Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
52. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
53. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
54. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith
55. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
56. Which jointis not a longitudinal joint :
(A) Lapingjoint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint
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49.

50.

51.

52.

53.

54.

55.

56.

............. TAHS! BT AIST TAT FE AlCTg AT TG
BT 27

(A) Rafer
(C) =if=T

(B) <Arif
(D) ©i

.................. ABS! BT ART AT ATAATHR HFRTT BT
Tdh Thsl Bl & T dAdhs! & Sihel IR e
=

(A) @i
(C) de

(B) U=
(D) dice

AHS H A GIRT T B BT Pl
PHET ST 87
(A) fersferT
(C) FrfET

(B) Rafe
(D) 9T

PIF AT BATST DA BTAT D BT T &
(A) 91 fUs 8dreT  (B) i fUe gedteT
(C) Tt BT (D) THS! BT gAIST

HIF W Abs! exdrel &I dge 9919 H UIRT

Tl B TRy

(A)ﬁ?"{ (B) <%

(C) AT (D) AR
TUSISI &7 @ 9T Ugd 2 |

(A) SITeT LT (B) BIT

(C) STeT T (D) SITGT U qTel

JeT BT FIY 3R dTel AT Pl a7 Hedl o
(A) IIRP dahed  (B) faaT s
(C) #gen fvot (D) fa

B4 AT 3SR g B & YANT a1 fobar ST
%.

(A) frere (B) X o4
(C) aHIHH (D) o=z
I AT SIS Irgeed ST -7 &
UNEEISIS (B) 2afeTT ST
(C) fRAT ST I SESESIS
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57.

38.

59.

60.

61. Which is the part of door frame :
(A) Toprail (B) Hom
(C) Bottom rail (D) Hanging style
62. Which is the lowest part of the window frame :
(A) Panal (B) Horn
(C) Sill (D) Bottom rail
63. Clearstory window rotates on :
(A) Top side (B) Middle side
(C) Bottom side (D) Anyside
64. Lantern light window isused at :
(A) Corner (B) Slopy roof
(C) Flatroof (D) Wall
65. Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
CARPENTER-06

Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullaryrays

Which door is very low secured :
(A) Flush door

(B) Ledged door

(C) Rolling steel door

(D) Panalled door

Which door is used for privacy & ventilation :
(A) Ledged braced door

(B) Flush door

(C) Loavered door

(D) Panalled door
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57.

38.

59.

60.

61.

62.

63.

64.

65.

T TR & o) e W aThs! YT 81T 2
(A) 3mH (B) @R
(ONIS! (D) e

P9 & AR J&T Bl MY AT B AT 2
(A) foe & B) < 1 4
(C) aaohet ¥ (D) #ga X

GRET & T ¥ A gHR $1 SRare qad
IR &

(A) 9T <XATSIT

(B) <iole GRATSIT

(C) AfelT el gRaraT

(D) faeel TR &xarSTl

PHIF AT SRATS WSd¥l T diele™ & ford
TINT Bl &

(A) oS IS TRATST]

(B) \UTC &xATSTl

(O XIEEEEATISl

(D) f&eel TR S=arST

B SISl Bl dRgC BT R 2
(A) &TT X (B) B
(C) dfeH T (D) BT w8

Rasad! & drage & el R &1 |1 Hed
%-.

(A) fecer (B) &

(C) fra (D) dfcq Xt
FARR TR Rasa! dal F Al o
(A) &R ¥ B) 9= |

(C) 5 ¥ (D) Bar q i
de dige Rasd! dal YANT Bl &
(A) f IR =) (B) @Ief Bd W
(C) 9uTe Bd W (D) TR |

FIT T ABS! BT 0T T =
(A) HrSTfT
(C) T

(B) 9R
(D) AT
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66.

Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun

67. Whatis the unit of timber measuring :
(A) kg /m’ (B) kg/m?
©)m (D) ?
68. Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
69. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
70. A wooden block hinged on the part out side of the
dooris known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
71. Whatis the length of Tenon saw?
(A)25cmto 30 cm
(B) 20cm to 25 cm
(C)20cmto 35 cm
(D)30cmto35cm
72. Whatis the use of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) to make large cut
(D) None of these
73. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm
CARPENTER-06
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66.

67.

68.

69.

70.

71.

72.

73.

AOIRI & ST 9919 § I A Abs! BT

JIART BIdT ©:

(A) ¥, 99e (B) 31, el
(C) ITe, TaeR (D) =<, ST
DS AU B RIT DS o

(A) four /4 (B) fvur /42
(C)#r (D) #r

AT, RIsd! # AT B AT Heoll YANT
BT &
(A) 9% FoiT 21 (B) WU ot

(C) 9¢ &= D) RESUESERS
RIS Bl AaR | 9 Adel Rasa!
PHEAH T

(A) daH Ragdl  (B) SR Ragad!
(C)oie+ Ragar (D) 9—Rasan

TRATSl B g% TRB ool Pl ST |

SR T AHS! & ThS Bl FaT A BT &
(A) Tl (B) IR

(C) &+ (D) it

A T MY BT AT fohaeil BT 87
(A) 25 010 & 30 HOHIO
(B) 20 %10¥10 & 25 H0HI0
(C) 20 00 & 35 HOHI0
(D) 30 010 ¥ 35 HOHI0

Sace A BT YA b &rd & forg foar
ST 87

(A) e e @ forg

(B) BIC ®c 9 & oy

(C) TS Pe oA & ol

(D) S5 | P18

Ru | & aw1g fha =il /7
(A) 60 H0#I0
(C) 70 H0H10

(B) 80 010
(D) 50 H0#I0
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74.

When is the key hole saw used?

(A) to make the hole

(B) to cut from innerside of wood
(C) to make the circle shape of wood

(D) Both (A) and (B)
75. Which tool is used to make small curves in a
confined space ?
(A) Rip saw (B) Compass saw
(C) Cross cut saw (D) Firmer chisel
76. Whatis the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40 cm
(D) 50 cm
77. Which saw is used for cutting the thick wood
perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw
78. Whatis the length of Bow saw?
(A)25cm (B) 25cmto 35 cm
(C)35cm (D) 35cm to 40 cm
79. What s the property of coping saw blade?
(A) Longblade (B) Verythinblade
(C) Thin and short blade (D) Thick blade
80. Why are the chisel used?
(A) Moulding work
(B) To make the hole
(C) Both (A) and (B)
(D) None of these
81. Whatis the length of Rule?
(A) 30 cm and 60 cm
(B) 2 ft.
(C) 4t
(D) 0.1 meter
82. Trysquare is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above
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79.
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81.

82.

P! B Al BT YANT He fHAr SIrar 287
(A) G PR & forg

(B) THS! Bl TR A P & forg
(C) THS! BT g ATBR T & o1y
(D) (A) 3R (B) <1

BIC! S8 A <l RIS &- @ fory fad Suahor
(3ISTR) BT WA fohar STrar 287

(A) Ry <t (B) &+ AT

(C) i He wf (D) R feroter

HHRT A B oHTs fhadl 87
(A) 20 50¥10 & 30 HoHI0

(B) 25 010 ¥ 40 H0HI0

(C) 30 HOHI0 ¥ 40 HOHI0

(D) 50 H0#I0

fohT IR BT TN AT Tdhs!l DI NN H
PIe B B AT 87
(A) S St

(C) T4 ®e |t

(B) €dc o At
(D) Ra =t

q1 4t fa o= Bl 87
(A) 25 H0H10 (B) 25 00 ¥ 35 HOHI0
(C) 35 H0HI0 (D) 35 HOHI0 & 409010

BT Al BT TS DT BIT 87

(A) eTHT (B) 84 Udell
(C) Uqelt 3R ®Ier (D) HieT

fRrsTost ®T YT i fhar sirdar 272
(A) REe) &= & forg

(B) IR R & forg

(C) G T RFsarl & forg

(D) 374 I foxfl & forg =8

wol P o fhar 87
(A) 30 0. #10 TqAT 60 H0.H10
(B) 2%

(C) 4%

(D) 0.1 #ex

e WhaR fhdl &M &1 &9 999 & dM
T &?

(A) 30°
(C) 90°

(B) 60°
(D) 90° ¥ 37ferem

SET-D

Know More



83. Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°
84. Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge
85. What is the use of Marking knife?
(A) to make mark
(B) To cut pencil’s mark
(C) To make the hole
(D) All of these
86. How many types of calliper are used?
A1 ®) 2
©)3 (D) 4
87. Whatis the use of Divider?
(A) To make the mark
(B) Todivide
(C) Tocut
(D) To make the circle
88. Whatis the use of plumb Bob?
(A) To measure plainness
(B) For cutting
(C) To measure straight length
(D) None of these
89. Which tool is used to make parallel lines on
wood?
(A) Marking gauge (B) Wing campass
(C) Calliper (D) Divider
90. Atwhich angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°
91. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
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87.

88.

89.

90.

Hex WARR foa St &1 ®Ior 999 5 &
7T B?
(A) 45°
(C) 30°

(B) 30°
(D) 90°

0° ¥ 180° TP HI BT g1 & fory fha
AR BT TN fhar SIar 87

(A) TTE RR (B) Hlex TARR
(OEIEERSEIRN (D) &X U

BT AEH FA1 YART fHar Srar 287
(A) fem e @ forg

B) Ut & R &1 He &= B folg
(C) G B & fery

(D) Suga I

HATR fhe TR & B 87
A1 (B) 2
©)3 (D)4

fSargeR &1 R HH BT B ?
(A) R oM & forg

(B) fauro & forw

(C) @ T & forg

(D) 97 & & forg

g 99 BT YAET 49T 27
(A) T "9 & forg
(B) Bresl & forg

(C) Weras AT & forg
(D) 379 A BIS &I

AhS! BT FAMR XG99 & forv fag
JSTR &7 TN fhar Siar 87

(A) FTfHT T (B) T STy

(C) PellR (D) feaTgsR

WP i § s ®l fbd W & &or wR v
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

AT & ool H oFll I2T8d (style) AT X (rale)
H el T & forg fedt iR &1 gt faean
ST 87

(A) RTA A
(C) Rrartie

(B) W& Y
(D) &I i
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92.

What is the use of G-clamp?

(A) High pressure on wood

(B) To divide in between of wood
(C) To cut the circle shape of wood

(D) All of the above
93. Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
94. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
95. Whatis the breadth of blade of smoothing plane ?
(A)5cm (B) 7cm
(C) 10 cm (D) 6¢cm
96. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
97. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
98. What s the use of pincer?
(A) To tap nails
(B) To drawn nails
(C) Both (A) and (B)
(D) None of these
99. Plainingisthe............ process:
(A) First (B) Second
(C) Third (D) Fourth
100. Which work is called as chamfering:
(A) Cut the outer surface
(B) Make the edge
(C) Sharp the corner
(D) Sharp the edge of joiner and corner
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SH—Phel™ & YA i} fhar Srar 87
(A) dFS! T HIR TGG Sl B folg
(B) THS! Bl d19 # 31T TR & forg
(C) AHS! Bl MATHR BIe & folg

(D) Sugad |4

LT qAT BIC JRRI B & oy 5 3R
BT GANT fhar SIram 87

(A) Xde 99 (B) sISfar

(C) I AT (D) g7 ¥ BIg el

XTI BT YART &7 fhar Siar 287
(A) T UPR & B 991 & oy
(B) THS! Bl TGH B forw

(C) APl BIed & forg

(D) e e & forg

T o & e B drers fha B 2?
(A) 5 H0.510 (B) 7 H0.H10
(C) 10 H0.#I0 (D) 6 3010

I o BT TR B A F ST ST 27
(A) PRUCR d+7 9189

(B) ST—deiv

(C) STt

(D) IR—Fei

AT & 2T fra MR 9 S fby g 87
(A) BIS (B) T

(C) Af—¥ex (D) =R

=R &1 TN R fHar ST /7
(A) BT ST B fory

(B) Piet e & forg

(C) (A) 3R (B) <

(D) 394 & BIg &

N \ o O\
AT (R7aT T iy fbar 87

(A) el (B) T
(C) Ty (D) 3l

fohd BT Bl IFHRIT B 287?

(A) 91eR feEH dTell a8 Bl el
(B) f IR g1

(C) BT BT Bl

(D) 9TeR fa@= aTel <RY HIF TAqT ABS! & DI
BT ielT
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # G 16 TS & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, mﬁ[—gﬁﬂm e IR IS9P g Ry 2 gfe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S UNET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H Bl A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug=ae aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q THIT | IS T UPR BT HIs {29 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT" FHI ST 3R U SAIEaR & TWR ¥E8
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. U —gRT®I # & BIS TS 3T 9 Y | TR & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH HHN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. ux® usd & v IR SX fddeu fov v 2 w9
been provided, out of which only one is correct. Bact Uh 2 wel =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed Bl dadd =ilcl / Bll dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the B U STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@s usd & IR & ©Y § dad U & T8l fAdheq
answer. If response is indicated on more than one 2 dfe b gz & forw ue ¥ &1 fahedi U Ao
alternatives or the circle has not been darkened SR 7T 2 31eal el dl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Tod SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U @I si L Fre |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T& qR faU MU IR # S YR & GuR AT el
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | e ge
case of corrections or double marking of circles P IR H IR B R AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 oden 9o o deimeey, e SR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13. yx% UST &I Th b & | Told SN P [T BIs 3P
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & gaQ #§ &8
any question is found, the question given in English Ffe U Sl & o SfSn W ¥ fear T ue g
language will be treated as final. JfH 8T |
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